>
A & 0l & AF 2 E A A
20229 &= = 0lat LB &
SN NRT BT D
HE: 0O IHRY
ool gHUEXE PH2Y N EERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M X2 17,523,200 17,032, 141 491,059
2 9,489
Al 17,513,711
FRoE FF2IF 1,983,360 1,738,603 244,757
gdgile RE29 N2 148,604 149,061 A 457
2E AL =8 2 X 75,233 78,537 A 3,304
201 Let24E] 37,360 40,918 A 3,558
01 At 22l 11,560 11,648 A 88
OHEZ ¥ AEH 1,500& * 4000H 600
OEZEZ & d&F AO0lA 5,500& = 4004 2,200
OfIds A= 100,000& » 5& = 102 5,000
OAUZTHA 2 A2 70,000& = 203 1,400
OFJZZE 1=l 1,360
OZ2f= 120,000& = 4% « 23| 960
ogs= 100,000& * 49 400
OX3 ZE-FBu=E IMNE 1,000
OS82 A(32) 1,000
= 300,000& = 1H « 23| 600
- 200,000& = 1Y « 23] 400
02 2324l 25,800 29,270 A 3,470
O0ISZ doll2g = 60,000& = 4109H 24,600
OHF AR EHl Kb 1,200
OLEF A 15,000,000& * 8% 1,200
203 AR Z= Yl 10,000 10,000 0
03 AIF=XH =AY 10,000 10,000 0
OTHDBHNA X dHMIAR F&
10,000, 000& 10,000
206 T 2 H 12,376 12,376 0
01 MHZ 4l 12,376 12,376 0
OkL= Jt2J uH 12,376
Ot=z2| 5,000& = 1,2000H 6,000
ONEIl HE(SZE) 8,000& = 35004 2,800
OtH=71 S(EAAN2ZUE)
24,0003 * 45 ~ 60K 576
OESZZO0IU(IHZIN) WA
10,0002 * 300K 3,000
301 LEd = 1,320 1,320 0
09 SALAHIX A S 1,320 1,320 0
ONET OlSEE2s 2
10,0003 » 11 « 62l 660
ON&E INX?IHEg2de 29
10,0003 = 11 « 62l 660




SH:HER B
HE: 0O IHRY
ool gHUEXE PH2Y N EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 14,177 13,923 254
05 RIZHRI & 3 14,177 13,923 254
O=Zg Jt2J AHd2el & EA
3,544,100& = 43| 14,177
A ==X 58 29,139 22,644 6,495
201 Let249] 21,104 16,644 4,460
01 At 22/l 21,104 16,644 4,460
ONNESSE TR 29 ALY
300,000& = 32 & » 123 10,800
OBBYA T2 AALY
220,000& * 1H » 23 440
OFUAE SASXIl XMeldl 2
300,000& = 12& 3,600
OFUAY 2AMAEZ (MM L ELES)
250,000& = 123 3,000
OFUAY L= AlJ| wH 3,264
OoAlE 6,120 * 40004 2,448
O=3=x 2,040 = 40004 816
303 L& 3 6,000 6,000 0
01 243 6,000 6,000 0
094 AN HALNZRH T
100,000& = 10¥ * 62 6,000
405 XHoHF S HI 2,035 0 2,035
01 AL ESFH S 2,035 0 2,035
OFUAE F=IJ # 2,035
ORted A= 2,035,000& =« 1CH 2,035
ACLALSIE A THE X 44,232 47,880 A 3,648
307 21201 A 44,232 47,880 A 3,648
02 IAtFAAHE X 44,232 47,880 A 3,648
OHES MOISXNEZXE2s AFS XA
1,164,000& = 1000 & 11,640
O%HE MOSRUS AEXA
1,164,000& * 100H £ 11,640
OHS HIZAHAIIAJS AHXA
1,319,200& * 100H £ 13,192
Oe=TrECY HS23 AMEXE
582,000 * 504 2,910
OHSHEN NJASAU ARXA
4,850,000 * 1J0HA 4,850
HYESANE JIs2S 231,878 235,079 A 3,201
NEFE Heold 29 231,878 235,079 A 3,201
201 et 100 100 0




SH:HER B
M Z0I0E N2
Sl NEBESAM JS2Y (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 =224l 100 100 0
ONE0I=0IAIE BHaHMY EE2
100,000& * 13 100
307 gl2tol & 231,778 234,979 A 3,201
10 AL SXAIEEE 2 H EX 231,778 234,979 A 3,201
ORFO0E0E 29H 2= 231,777,040& 231,778
28 I8, 28,80 92435 51,173 40,987 10,186
A SEIIE F=d 24,060 14,072 9,988
201 Let24E] 18,260 8,322 9,938
01 At 22l 18,260 8,322 9,938
OAZE FFYREON RO 11,500
O&Jl HRE10A 10,000& = 508 * 23| 1,000
O%+Al HA22DA 10,0008 * 505 * 23] 1,000
OZEQYUD Al H & A
10,000& = 1008 = 13 1,000
ONMEAHEAM 10,000& = 1008 = 23| 2,000
O2sldE AR A
15,000& = 3008 * 12 4,500
Od=d FFLELIN
10,000& = 508 * 23| 1,000
OgRAEAM 10,000& = 1008 * 13 1,000
O7d YREDNS % MH
70,0003 * 83l 560
O3 Wad &L AES 1,200
O Xt 250,000& * 43 1,000
OsE= 50,000& = 43| 200
o¥gsdgda M 5,000,000& = 13l 5,000
202 o4dl 4,800 4,750 50
01 = LH 4 1l 4,800 4,750 50
OFFYREFE (Hl 20,0008 = 10¥ = 24 4,800
405 TtakF S| 1,000 1,000 0
02 TN 1,000 1,000 0
OSItH (BENZA) &M 12,5008 » 80& 1,000
ZEs SHAITA 4,833 4,985 A 152
101 @124l 4,833 4,985 A 152
04 JIZHHZ2Z2XNSE+ 4,833 4,985 A 152
OSHZEZA HREX 2 4,707
O A A A 78,4203 * 1H » 20 1,569
OZg - MEY=AL 78,4203 + 18 » 20 1,569
OALS| = At 78,420 * 1% * 20 1,569
C4E" JI2RES 126




SH:HER B
HE: 0O IHRY
oel: P JIE 2R SN A (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ons=sg 4,707,000& = 1.65% 78
OtHEH 4,707,000& = 1.00% 48
NRID BTG TRES 22,280 21,930 350
201 Let249] 22,280 20,930 1,350
01 At 22l 22,030 20,930 1,100
o738 JIEEE & &8 1,450
Oolst= 5,000& * 2500H 1,250
(OFAFSELPN; 10,0002 * 204 200
OHTFANE MERSE 17,316
OsLX 20,0003 = 9QHAL = 32 = 128 6,480
OXI & X 13,0003 * QAL = 72 = 128 9,828
O=F2tX 7,000& * 40HAt » 35 * 128 1,008
oO+3% 22 M 10,000& = 300% 3,000
odEg=mHA HI| S
22,000& = 104 = 128 264
02 2324l 250 0 250
Ot A =X 22 50,0002 * 54 250
WHHEE FAEE =4 671,783 650,374 21,409
JHReE AL 2R 22l 474,528 513,552 A 39,024
201 et 379,166 352,137 27,029
01 At 2teltl 66,909 41,503 25,406

380,00020 + 122 4,560
OYULUHY +42 60, 139
OFIIGEBE U 42
89,0002 * 122 9,948
OAgotmpe ALUY 242
468,002 * 102 4,680
OAPANE NS, ZHFY 242
2,375,0002 * 23l 4,750
052J |UZANY 42
217,009 * 122 2,604
OB HIIZA £+ 130,008 * 13 130
OBMAS 242 1358 * 3,447m « 83 3,723
ORZLHY S HA 2o 242
529,002 * 263 13,754
ONM3BAES(HA) HIBY +42
4,410,000 * 23] 8,820
OS2 £EAA £48  150,0008 * 13 150
O+=p B2l +48
170,008 * 2% + 128 4,080
ORM%ZE B2 442

10,000& » 180& = 23| 3,600
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- B(EN) - NRAY - B S il &t o il
OZAIA HIBAMN =22
400,000& = 13 400
O&FsxT HL =42 (2508)
3,500,000& = 13l 3,500
ootz N=ES=EH| 610
O& DI 90,000& = 13l 90
OFEN- 200,000& = 13l 200
Os&l 20,000& = 13l 20
OJtA 300,000& = 13l 300
orgzeE =23 100,000& * 43 400
OMPASS BN B £22
600,000& = 23l 1,200
32| 312,257 310,634 1,623
0=s32= % HA 185,770
OoNIIe=a 8,400,000& * 123 100,800
Odotl=E2=a 3,340,000& * 128 40,080
(O ES L=, 3,500,000 = 12& 42,000
OUsS®RERE= 500& * 10,446m = 50% 2,612
OAgotd & 3l 53,000& 13 53
O®EIIJI= &3l 200,000& = 13l 200
OSAIAHHAREZ (1EAE)
25,000& = 13l 25
OAIE ZHI S X 126,487
O&FA 22 Rl 4,898& * 17,622m 86,313
OFEAMN &EIIANE S22
239,716& * 2" « 403l 19,178
O&FA =& 22l 2,400 = 2,916m = 33| 20,996
M = 8l 25,743 25,615 128
M= 8l 25,743 25,615 128
OFAIZe BLAES 15,906
HEEEXN & 538
200,000 = 5& = 12& 12,000
oMl SZM=F
2,1702 = 15004 = 12& 3,906
CaUsH 2eES 100,000& * 12& 1,200
OJIHA |X E+EF(ItAEH &)
50,000& = 98 =« 33l 1,350
Odz+ll d3BZ 2%
30,000& = 48 * 43| 480
oLt RFTH
889& * 204 = 150¢ 2,667
odla gAMI| KFUH 1,397& = 2004 280
O U . LHEAIL A 2RI
100,000& * 5& 500
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SRl TS BAF

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OFA HI|, 2YANE 22E(CtFI| S)
40,0003 * 75 x 12& 3,360
401 Al HI L 2 0HHI 32,469 132,000 N 99,531
01 A& HI 32,469 132,000 N 99,531
OFA SH(UE2A, XD) S=BA
30,700& * 670m 20,569
OJIHA W) M2 L 2UHAIE EBISA
29,7503 * 400RT 11,900
405 X+H&HF SHI 37,150 3,800 33,350
01 A&t = S F SHI 37,150 3,800 33,350
OFUWAE EII(AE, oK) WAl 32,130
oAl 314,000& = 450 14,130
[@EIPN; 100,000& * 1804 18,000
oYL I (B2 HA) 2,000,000& * 1CH 2,000
odded(FEN0E) 1,330,000& = 1CH 1,330
OWLHE D[ (MDA 1,690,000& = 1CH 1,690
HES SHGR Hel 197,255 136,822 60,433
201 LEt2 Y| 135,100 133,259 1,841
01 AFR2t2l bl 7,900 7,269 631
OYE (XL, BM) =22 20,000& * 100AH 2,000
O3 &2 e 7 270& = 5,000H 1,350
O2EZ AU 2HEI} =5
250,000 * 2IHAb = 53] 2,500
OH*2HA HHY 50,000& * 53 250
O&AH L Ald2tel X 50,000& = 53 250
OXNENE ANSHEYI B 1,550
O&E4 70,000& * 102+ A 700
oced 170,000& = 5N E 850
02 33249l 127,200 125,990 1,210
OXs X 22l 46,515
OMAEHE Y SEEH 41,780
-s8i EE 450,000& = 3CH 1,350
-S8X € 600,000& * 3CH 1,800
-52X g™ 950,000& * 2CH 1,900
-S8 A =€ 570,000& * 1CH 570
-SEXN UE 1,000,000& = 1CH 1,000
-SIE2X A 750,000& * 60CH 4,500
-SIEX B 700,000& * 1CH 700
-2 E 1,200,000& = 1CH 1,200
-HAXNE(SFEXN AE) 920,000& * 3CH 2,760
-HAXNE (SIS =) 700,000& =+ 8CH 5,600
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el

MY . B (3H) - NEAY - BAS ofl &t o SSa HDE2
-HAXNE(SEX HE)
1,200,000& = 17CH 20,400
O XS XA 2,445
-S8i EE 75,000& = 3CH 225
-8 € 250,000 = 3CH 750
-S2x g 400,000 = 2CH 800
-S8 A 5E 100,000& = 1CH 100
-S&X E" 120,000& = 1CH 120
-SIE2X A 55,000& * 5CH 275
-2 5 55,000& * 1CH 55
-SIEX U 120,000& = 1CH 120
OZINHEE S 2,290
-s8i =8 90,000& = 1CH = 23] 180
-S8X UE 90,000 = 204 = 23] 360
-SE =8 150,000 * 1CH = 23] 300
-SEA OE 205,000 = 1CH = 23 410
-SIE2X A ¥ 50,000& = 501 = 23] 500
-2 =€ 90,000& * 100 * 23] 180
-St2X & 180,000 = 104 = 23] 360
O&INEANE=EE LS8, 82)
27,000 = 17CH = 23 918
OZgdAMN==2 (8 ,58,32)
51,000& * 170H 867
O Xt &= X dl 78,900
O& I Xt 1,500,000& = 1CH 1,500
SE X 4,900,000 = 7CH 34,300
O& &t 6,500,000 = 2CH 13,000
Ost= Xt 4,300,000 = 7CH 30,100
202 04 d| 3,500 3,563 A B3
01 2L Y| 3,500 3,563 A B3
O2LF A =X &S ol 3,500
(@] 30,000& + 58 « 143 2,100
O&LH 10,000& * 5 * 283 1,400
405 XHoHFE S HI 58,655 0 58,655
01 JHMY = ZF SHI 58,655 0 58,655
ONM&EEZE SI2E= (2.58) 58,655,000& * 104 58,655
5 JIBEH U 2R 879,922 663, 102 216,820
HANO HHHLEG 2 355,122 284,372 70,750
201 LBt | 205,642 184,132 21,510
01 At 22l ] 45,050 35,388 9,662
OFE AZEAN el 45,050




SN MET BFXAD
HH: X00E DY
Col: MES JIBES U BE X (ctel:&2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ostaul A 280,000& * 502 14,000
OMS2 Il & 490,000& * 50 24,500
OHl4 MYU22E E= O
70,000& = 1004 » 63 4,200
OgE=X 47,0003 = 502 2,350
02 22224l 160,592 148,744 11,848
OFAEH L ALY X2 137,992
OFH o= A28 2FE(5290)
4,367,000& = 12& 52,404
OF® B -5 A0IH Zalel(2070h)
466,000& = 12& 5,592
OB - S 201012237 (200H)
4,160,000& = 12& 49,920
OB -5 SaoIaL2I(18HH)
933,000& = 12& 11,196
O - HEHIIS thsa D Jyl(400)
208,000& = 12& 2,496
OMRAPE o - = EHOIX 2EX 2%y
1,200,000& = 12& 14,400
O ALE 2 LY Al A El 165,300& * 12& 1,984
OBAIS/W AHE S XIHI (20l & A) 22,600
OPCE g4l T2 28,000& * 5002 14,000
ONMB S WAl T2 440,000& = 5& 2,200
OUPCXIZIO0l MIOIME Z20H
30,000& = 1002 3,000
ONUFELSASHIZ2 ] (PCE)
34,0002 = 1002 3,400
405 XHoHE S HI 149,480 100,240 49,240
01 AL EFH S 149,480 100,240 49,240
OFE YL 0.5 HHANSEY DA - 22 149,480
Ol sz =H 1,400,000& = 40CH 56,000
OZEH(MEEEY) 600,000& = 36CH 21,600
ORI ZI| 24,000,000& * 2CH 48,000
OSeUIALSI| 7,960,000& = 3CH 23,880
FESH JIBAIE 29 524,800 378,730 146,070
201 L2l 316,936 307,730 9,206
01 At 22l 1,000 950 50
OMNBHAMN SHIY RFL42
200,000 =« 504 1,000
02 =224l 315,936 306,780 9,156
OSHEEIE MEZ 126,960
O=NBLENY AEBE 100,800
-fod .= 700,000& * 113l& » 12& 92,400




SHTMRT HEXE D
Bu: Fo0E 232y
& 23 Jigtxd 2 28 & (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
HEFs HZald
700,000& = 13l& = 128 8,400
OFEd MER 20,160
-SR0S (512K)
150,000& » 63/ & » 12& 10,800
-wod -3, J|E
30,0003 = 263 » 12& 9,360
ONeT oslgsea
500,000& = 13l& = 128 6,000
COYEHANMS MEZ 4,000,000& = 123 48,000
ogeANs AAEE 7,000& * 834 * 128 672
OQHYUIH 3& AIEZ
30,000& = 163l » 12& 5,760
OALYS +MUR(HEHA)
40,000& = 1314 = 128 480
OFESHEH RA22 134,064
OANEFEESHEHI 5,452,000& » 12& 65,424
OdZdatwed| 1,794,000& * 128 21,528
ORFEEAZX 360,000& = 12& 4,320
ogzgsdl 137,000 * 123 1,644
OAMNEEAA ST EHI 360,000& = 12& 4,320
OFUHgSEH 808,000& * 123 9,696
OCCTVZE HI 1,620,000& * 12&8 19,440
OFMAUHLSAIAEH 251,000& = 12& 3,012
O=3 2 SsoAs Alrg
366,000& = 12& 4,392
OZ2AE S| 24,000 = 123 288
206 M= Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
OFESHANE 22 XM 5,000
OuTP ol & 118 2,500,000 = 23l 5,000
401 AIEHI L 20 29,797 10,000 19,797
01 A& HI 29,797 10,000 19,797
o7& ¥ ¢ .3 FUSHLEZ FH
5,000,000 = 23l 10,000
OlPHE L SAIAHE 19,797,000& 19,797
405 XHobF S HI 173,067 56,000 117,067
01 HatL ESFH S 173,067 56,000 117,067
oO=%.,% .35 SAFH wxH 171,267
OUE/KIARAX(L2) 10,949,000& * 3CH 32,847
o5&l (Sala) 49,770,000& = 2CH 99,540
Ogss&EH(H, ) 4,320,000& = 9CH 38,880
OHFHRE IPTHE 3D 600,000& * 3CH 1,800




SN MET IR
HH: AME 2HHE 29
Sel AME 2HHE 29 (el @ e)
SA-3H-S(3AH) - MRAS - BES Off &t 24 %Eﬁ Hns2
AT 23AE 2Y 29,156 26,461 2,695
AME 2HSE 2Y 29,156 26,461 2,695
AW fEEY |4 13,026 10,331 2,695
201 Ypre | 13,026 10,331 2,695
01 At 22|t 13,026 10,331 2,695
OSHNSAE NSHAS 28 22 2,000
Om = 25,0008 * 50% 1,250
Ol ] 5,0008 * 502 * 33| 750
OLel HY, MSY HUHMT L EL2HE
6,0008 * 500% 3,000
OLANSHAR RSLA 2Y+Y
220,0008 * 19 220
O3SALS(SSAE) HEY 228
383,0008 * 2 * 13l 766
OSHANYI +HXY KB (BEE)
6600008 * 63 3,960
OMSAE HHEA 448 3,080
OAZE0} 383,0008 * 2 * 23] 1,532
O =0t 387,0008 * 2 * 23] 1,548
SUMSAE el 16,130 16,130 0
201 Yete | 6,630 0 6.630
02 ZZ 2l 6,630 0 6,630
OO0tABSIIR A& FHI KX
30,0008 * 221% 6,630
305 a2 S 500 500 0
01 A2 S 500 500 0
OOtABSII7 JXSHWABH XL
100,0008 * 53] 500
401 A& HI L 20l 9,000 15,630 16,630
01 A&l 9,000 15,630 16,630
C% 0t22SI|? A 3,000,008 * 3F 9,000
oy 2y 459,195 442,590 16,605
DlYRIoY A U ASER2EBL 459,195 442,590 16,605
Dlgel NEEY XX 218,056 219,123 A 1,067
201 Yute S| 11,556 10,113 1,443
01 AbR I 11,556 10,113 1,443
Oplge B B2 HLH 70,0008 * 63 420
0ol B4 L HIAL EXE DA
100,0002 * 107 1,000
ORI = AE 6.0008 * 502 * 23| 600




SH HRT HEXAD

B oigel 29
Sl Plweleiz A5 U AT QAL (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OMHAME M NEE SA3HD|
30,2603 = 5004 1,513
oRlge 2 A8 FUES MH 2,300
OsRHEMN R0 72,0008 * 255 1,800
Oflge s 2 HaEM |2
10,0002 * 30% 300
Oplgs IEEY FHZ M
50& = 4,0000H 200
OO0tz Mg e s ZAsE
120,000& * 203/ 2,400
oggesE 2 2,915
(OF-=g= 25,0003 = 58 » 118 &= 1,375
O=I 23,000& = 58 » 11 S 1,265
O X 5,000& * 52 * 1= 275
ooee nEed A=J| Xz
34,000& = 1CH » 12& 408
206 M= Hl 4,110 4,320 A210
01 MHZ 4l 4,110 4,320 A210
OUELI(NHEE) 7,000& * 100K 700
OFQUIIAE H&ES8  165,000& = 1694 2,640
OoHla S==AlE =Z3A M=+H
1,100& * 1004 110
OoIete Fhag Ey] 660
OM<=2I 420,000& = 14 420
ObsS2 =8N 120,000  20H 240
301 LPEAZ 166,390 167,255 A 865
04 X2 HUHAH X 135,640 137,180 A 1,540
OXsZ U OrAHI 68,440
OHg 4,000& * 5% * 123 * 12 2,880
OXI<H 4,000 = 5% = 1104 » 298¢ 65,560
OXsdHIH *J46l 200,000& » 11CH » 128 26,400
oS8l =A29l
200,000  12CH = 12& 28,800
OS2 dH=FXNH E&=
1,000,000 = 12CH 12,000
09 #HALAHIXIE S 30,750 30,075 675
OXNYGLAUE s NS
75,000& » 410H 30,750
305 et =2 S 500 500 0
01 HH&a=s 500 500 0
Osd & N&E28 23 500,000& = 13l 500
307 glz2tol & 500 500 0
01 2=zL A=l 500 500 0
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B oigel 29
SRl OIYWRINY UG U A=A (B9 ®R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O=zd T 24N K&yl 500,000& * 1H 500
405 XtabF SHI 35,000 35,000 0
01 AL 2B F SHI 35,000 35,000 0
ogd=sH 35,000& = 1,000H 35,000
EE ANI=2RA 22| 240,711 223,059 17,652
201 L2 H| 1,380 1,373 7
01 A2 22| bl 380 373 7
ONBI=ZDRE AADNT AL
120,000& * 23] 240
OAZERLAA AAdNE S0 M
70,000& * 23] 140
02 35249t 1,000 1,000 0
oRaMAEH 20,000& * 504 1,000
301 deEtE2d™Z 239,331 221,686 17,645
0B MBI =ERRIBAZ 239,331 221,686 17,645
©Ql24| 235,767
(@)L= 610,300 * 24 = 128 175,767
O = AlH| 7,000& * 24%H x 2502 42,000
[@FnE=3:]| 3,000 * 24¥ x 250 18,000
o=22=s 3,564
odt= 50,000& = 129 = 2¢Y 1,200
Ox=s8 55,000& * 12 = 24 1,320
O&1H 56,000& = 129 = 1Y 672
[@l=3= 31,000 » 12 = 1Z & 372
STels SN 428 408 20
201 Bt A | 428 408 20
01 AP 2t 2l Yl 428 408 20
OSKAEs HIFALLEE F7¢ 325
OoZglye &Y 220,000& = 1JH 220
O=2 A2 X (A4) 21,000& * 58 A 105
oHlalH g 2= HE 103
@)=E=1=4 70,000& = 1JH 70
O 2t 33,000& * 1JH 33
BHLSYAL (M HFXAD) 15,051,489 14,824,487 227,002
= 9,489
Al 15,042,000
ol 2AY| 14,542,729 14,317,093 225,636
= 9,489
Al 14,533,240
ol 24 H| 11,561,955 12,030,786 N 468,831
101 @121l 11,561,955 12,030,786 N 468,831
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 2= 10,307,607 10,394,818 A87,211
OPJE=-= 7,352,208
OJI22(¢HSH) 751,284
-4= 7,743,000& * 198 » 12& 92,916
-5 6,858,000& = 8H » 123 658,368
OoJlzs(sEH) 6,600,924
-6 4,192,000& = 67H » 123 3,370,368
-2 3,260,000& = 40 » 128 1,564,800
-8 2,232,000& » 46 » 128 1,232,064
-9 1,721,000& » 21F 128 433,692
GRS JUE=, 1,028,447
OlRSRE=E 87,530
52U
4,192,000 = 32H » 4.1% » 128 65,999
6202
3,260,000 = 10H » 4.1% 128 16,040
72U
2,232,000 * 5H » 4.1% 128 5,491
om24+Y
6,600,924,000& * 1/12 = 50% * 23l 550,077
OFSE=E =Pl Fig= 132,000
-25E 0] &f 130,000& = 53 * 12& 82,680
~20 0] &4~25 0] ot
110,000& = 9 = 128 11,880
-15& 0l &~20E 0 2t
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Hu: 880 BTY L L OSSN Y
ool BSE NN 2 BBH Ys (S &2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
301 et A= 1,080,000 1,206,000 A 126,000
01 Al E & A 462 1,080,000 1,206,000 A 126,000
OAMMOolAa XtH Ools¥=dHl XS
150,000& = 600 * 128 1,080,000
el old ots2tAaHl X& 823,680 855,360 A 31,680
307 212t0| & 823,680 855,360 A 31,680
11 A EXAIEEX 823,680 855,360 A 31,680
BF0ts 2tAlHl X&
6002 = 5,200 * 222 * 12& 823,680
HYE HASOsS K& 52,320 75,240 AN 22,920
301 et M= 52,320 75,240 A 22,920
01 M EXE 2562 52,320 75,240 A 22,920
OBA MAS Ols d32XNE B I 52,320
OOt3AMl Ots=s 86,000 * 209 » 12& 20,640
OB0HANl Ol 66,000 *~ 20 * 12& 15,840
OOt5AM Ot 66,000 ~ 209 » 12€ 15,840
XNAF=01o X=X 1,350 1,349 1
MASS Moy &8 1,350 1,349 1
SAA2A 1,350 1,349 1
201 Bt 1,350 1,349 1
01 AP 22| H| 1,350 1,349 1
OFRYRXA 1,350
OZF AHIH 100,000& * 107H 1,000
o8l £9t 70,000 = 5J4 350
HESABH (MK P =0E2X ) 94,110 96,782 N2,672
JlE&dl 94,110 96,782 N2,672
Jl2 &4l 94,110 96,782 N2,672
201 gEt24y| 58,110 64,766 N6,656
01 AP 22| H| 31,110 32,751 N 1,641
OJl2gLssAY| 450,0009 * 269 11,700
OJIZZHl (SHI)
8,000& * 269 * 7Y x 128 17,472
O&FZLD| XS 76,000& * 12&€ 912
O2J/18&D| dxz 42 7509 « 208 *~ 12& 1,026
02 B32%H| 27,000 32,015 A5,015
oORTR= 24,600
oYLt 400 « 2,000 ~ 12€ 9,600
OS2I 2,5008 * 500 ~ 128 15,000
OZ22sU=E NS (AMEEX)
50,000& = 404 = 12& 2,400




SN HRT FA=XD
gﬂ: 3H7§-|$O:|31|:||(
Sl Jl= A

SA - ZE-B(EA) - NRAY - B S il &t o il
202 Od4dl 31,200 27,216
01 = LHA YI 31,200 27,216
OJIEZ 20,000 = 26 * 58 * 123 31,200
203 YR =&l 4,800 4,800
04 FN2ELSZTH| 4,800 4,800

O©JIZE A4 (30210l5t) 400,000& = 12 4,800
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SH: HETR MADED
B &4 AW Uy
el DB S42 MY EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O8 =5 70,000& = 84 560
Ocl&% 4003 = 9500H 380
301 LEM = 300 300 0
12 JIEtE &= 300 300 0
OS2S=H HHA42 A
3,000& = 100A 300
HE2AIH(ME T A4HDED) 39,958 47,078 AT7,120
Jl23&dl 39,958 47,078 AT,120
JlE2Zl 39,958 47,078 AT,120
201 Let2d] 21,358 21,598 A 240
01 At 22l 17,406 17,643 A 237
OJleg =8| 450,000& = 194 8,550
O©Jl=Zdl(Sl)
8,000& = 129 = 7 » 123 8,064
OF=DI Xz 33,000& = 208 » 12& 792
02 2324l 3,952 3,955 A3
oRER= 3,952
OBt 400 * 4,380 1,752
OsJl 2,500& * 880= 2,200
202 (4l 14,400 17,280 A 2,880
01 = LH YI 14,400 17,280 22,880
OJI&Z 20,0003 = 1298 = 5 » 12& 14,400
203 YR =&l 4,200 4,200 0
04 FN2ELRZ=TH| 4,200 4,200 0
©J| & X (2521 016t) 350,000 * 123 4,200




N & O &

20223 = =0 &b LS &H

fAMN: AETF MR
I XA 2el
& s NYA 2t

g Al

SN BA(SA) - MRAY - BES il HImEET
M2 NS 474,161 472,348 1,813
XAl 2tel 395,607 397,286 21,679
Zest UM 2 254,905 258,806 A 3,901
LA 20 2 58 254,905 258,806 A 3,901
201 L2l 254,905 258,806 A 3,901
01 At 22l 59,039 59,990 A 951
OX&A 2 =& 34,217
O&JII&E DXNM M &L & 18,296
-SEREA UM HE L 5
72,600 » 104t Xt 726
-XASIA DM HME L =
72,6003 » 774Kt 5,591
-HebAl DA HE & 29
72,6003 * 1054t Xt 7,623
-F=8A DXA HE R EH
72,600 * 60&F Kt 4,356
O=Al& XA 72,6003 » 194t Xt 1,380
OXNSXM AN ME &L &5
72,6003 » 264Xt 1,888
Oxtgz IXAM 72,6003 » 33&FAt 2,396
OAM2 =2 XA 72,6003 * 244Xt 1,743
Qe & 5,664
-XNgNheEas gl 72,600 » 254+t 1,815
-OEX etz 72,6003 » 394t At 2,832
“KNEASAH CHHZ 72,6003 * 144Xt 1,017
OESE MH 100& = 19,0000H 1,900
OU=% M= 200& = 4,7500H 950
OXNTNEL 2= 22F Y 6,844
O=AEX 21,0003 » 64&LKt 1,344
O&H 220,000& = 2504 5,500
OX&gAH & 14,035
OXNZgME g8 s HA
2303 * 5& = 4,7000H 5,405
O&JIZ2 NN gRLUH2
100& = 20,000& 2,000
O8 =5 70,000& * 133 = 30 2,730
oYzt 30,0003 = 133 * QI 3,510
(OF:[ 1= 30,000& = 133 = 10 390
Oun==Zelfyll AB3 3,943
O&H 240,000& * 6K 1,440
oced 840,000& = 14 840
O& &I 258,000& * 1K 258
OFEIN(FHFHR) 440,000& = 14 440




M & 0 & e & A
20229 &= = 0lat LB &
AT MR
XA 2el
CHEE NYA 2o
SA - ZE-B(EA) - NRAY - B S il &t o il
OZLYEY 237,100& = 204 475
ONAMHE 380,000& =« 10H 380
OHEUS 55,000 * 204 110
02 =224l 195,866 198,816
ORERIB(FIEZ, =N, A2, 2tU2) 192,000
OBt 4003 = 330,000 132,000
OsJl 2,500& = 24,000 60,000
OXEAN B=2E ANEE MEE
33,000& = 1CH » 12& 396
OHF AR EHl KAl 3,470
OLnHZelHI 20,000,000& = 108 = 8% 1,600
O&E R = AL 3,200,000& = 201 = 8% 512
O M MIE DI 2,300,000 * 2CH * 8% 368
OM=&30D| 3,630,000& = 104 = 8% 291
O=82l 8,730,000& = 1CH = 8% 699
SEH MW A= 140,702 138,480
NEA MEH = A5t 140,702 138,480
201 L2l 115,702 113,480
01 At 2t 2l 28,662 28,395
OXN&A =2 =& 24,675
OMgd DXAM HE & &
72,6003 » 194Xt 1,380
O==% & & =4 72,6003 » 56&F At 4,066
OHMY &2 MHE & =4
72,6003 * 1154kt 8,349
OUsz U2 (LRHDE S)
72,6003 » 194t At 1,380
O3MH™ME =2  600,000& * 5021 * 25% 7,500
O=sM& & HE HEHME =8
2,000& = 1,000A 2,000
OMEZE=+= 2L 425 ¢ 2,967
Oo=Zgd Y 220,000& = 9OH 1,980
SAETX 21,0003 * 474Kt 987
OMgH SEEI2 8 1,020
O+ 70,0003 * 23] » 304 420
Ozt 30,0003 = 23| * QI 540
(OF:[ 1= 30,0003 * 23| = 1J0HA 60
02 =24l 87,040 85,085
ORERB(MEILXM, SEZ, 002, 2UHI) 82,000
OBt 400 * 180,000 72,000
OsJl 2,500& * 4,000 10,000
OgXE ANEE ABZ
45,0003 * 200 » 12&8 1,080




2N
XA 2te

el

X ZH
S =

NET M2

SEH2 Mg

SA BB (SH) - NRAY - B ﬁlgﬁ HRE2
OHSE IAXAIAE SX22lH]|
330,000& = 12€ 3,960
303 ZA& 2 25,000 25,000 0
01 A2 25,000 25,000 0
O&fILAS 25,000
O20199 = 0| ™ 170,000,000 = 5/100 8,500
020208 = 200,000,000 = 3/100 6,000
020219 = 1,050,000,000& * 1/100 10,500
HHSHAAH (M IAHNE2 ) 78,554 75,062 3,492
=&t 78,554 75,062 3,492
Jl2 &4l 78,554 75,062 3,492
201 et Y| 30,204 30,502 A 298
01 AP 22| d| 30,204 30,502 A 298
OJl2g R AH| 450,000& * 24H 10,800
OJI=ZZH (S&HI)
8,000 * 249 * 72 = 128 16,128
oolEA MY U BHHM 3,276
oolgolg &1 11,000& » 5& * 12& 660
OolA ¥ Xz
47,0009 * 204 = 12€ 1,128
OolAA ZBIIEAD Xz
42 0008 = 204 *~ 128 1,008
OoaA 32 60,000 * 4= = 23| 480
202 o4 | 34,800 39,360 N4 ,560
01 2L I 22,800 27,360 AN 4,560
©OJ|=&H| 20,000 = 199 » 52 * 12€ 22,800
02 2 H | 12,000 12,000 0
OMEMNZ2&a4 &0
200,000& = 5™ * 12& 12,000
203 Q2 =AY 4,200 4,200 0
04 EANSIELRF=XH| 4,200 4,200 0
©J|Z= M (250210|6}) 350,0008 ~ 12& 4,200
405 XHo&HF S HI 9,350 1,000 8,350
01 XA 2 FF S| 9,350 1,000 8,350
OZ2J|azEA D 9,350,000 = 1CH 9,350




= o
A & 0l & AF 2 E A A
20229 &= = 0lat LB &
2N NER BN
M 9 JHRE OISLE2 TAEE =4
ool WS MEBHALM CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M sZe 4 5,186,582 4,536,602 649,980
oD RS otELR SAEE =4 647,571 614,138 33,433
WG MEEAXH 591,565 556,740 34,825
Hasgs =& 4,550 4,370 180
201 L2l 4,550 4,370 180
01 At 22l 4,550 4,370 180
ONAMEE EE2ES 4753 * 2,00004 950
oHg&s =& 28 300,000& * 123 3,600
Mol SHEI &X 51,563 52,503 A 940
201 24l 18,778 18,923 A 145
01 At 2t 2l 6,410 6,555 A 145
O=2gSIl ¢X 5,970
O=sg&EJ &X Znu
35,000& * 11HHS = 1204 4,620
OZAlJtoiet & 2108 20,0003 * 2004 400
OSHE MYDl HHEeE 228
100& = 9,5000H 950
OZH =HEAME &4& ZEH &4
220,000& = 204 440
02 =224l 12,368 12,368 0
OZAIZtoiet eIHY SlHALEZ
36,000& » 143 « 123 6,048
O=28SIl HAX 32 |A 22
15,0002 * 80 1,200
OZAIZtoet | X2l
4,000,000& = 1604 = 8% 5,120
206 M= Hl 985 1,540 A 555
01 M= 4l 985 1,540 A 555
©OZ28 AdoIX =4 985
Os8SJ ¢X =¥ 77,000& = 504 385
OEESI &X ¥ HoE
200,000& = 304 600
401 AIEHI L 2CHEI 19,800 0 19,800
01 A& HI 19,800 0 19,800
OZAlIDtoiet Ol A & Xl
450,000& = 11CH » 42| 19,800
405 XtAtE SHI 12,000 12,000 0
01 AL EFH S 12,000 12,000 0
OZ AN (0ISE) 4,000,000& =« 3CH 12,000
2 EA R MY =& 28 531,552 493,906 37,646
201 ¢er24l 322,512 312,836 9,676




SN MER B
HE: gD HRE
Al

©el: HEE

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 AFR2t2ltl 34,030 27,251 6,779
OHFZRAMH FI(SIEFEI =28 ¢
= 30,0003 = 304 ~ 12& 1,080
OHATLN UHDF YA +Y
120,000& = 1 ~ 13/ 120
OBAZLE ZHZRIY A2E
170,000& » 128 2,040
OUEHII=2 thsdl RALZI| X
130,000& * 10=FA « 30H 3,900
ougmll= ESXNHH M2 =42 &Y
220,000& =+ 5CH 1,100
OUEHIIE eSS 1102 * 30,0000H 3,300
OUEHIIE AEHY ZH =22
1,000,000 = 12& 12,000
OFAXE 2L 4,500 * 32 * 2704 365
OMY Il =HNHE AEIH 1002 = 3,0000H 300
oMY Jl RASE T EXH
1,000& * 2000H 200
OYX(2dY) HIIE Meldl 3850008 » 25& 9,625
02 =224l 288,482 285,585 2,897
O=3E8 SEU=E MES(H2YR)
70,0004 = 204 ~ 123 1,680
OEZZRANEH ALYE S
20,000& » 12& 240
OFAXEZE ZHAIAE =& 17,0008 = 2104 357
OXIANX KX 2L 4,580
OXAX =FHl 1,275& = 1,2004 1,530
OXIA X = X8l 2,000,000& = 1CH 2,000
OXAX 282 1,000,000& « 1CH 1,000
OXAX BMx= 50,000& = 104 50
OFAZH & g wX2el 281,625
OFAXY BMN==E 1,965
-ZIIZ A 35,0003 = 270H 945
-SEZA 85,000& * 12CH 1,020
OFAaXtg dAIIMAULEI HAl=rE
1,000,000 * 1CH 1,000
OFAXE UsIHAl 30,0002 * 204 60
OFAXY KX Hl(2701) 278,600
-EAIH(E.UE) 10,800,000& * 2504 270,000
SIS (LE) 4,300,000& =+ 2CH 8,600
206 M= Hl 45,040 51,070 A 6,030
01 =4l 45,040 51,070 A 6,030
OL=HAAX JIXTH 18,900
OsLEHA 280,000& = 30H = 1504 12,600
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n0

Kio

Hl w

949
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O0lEEZ H& R 25,431
ogeY 79,4703 * 200 + 4Y + 40 25,431
C4E" JIA2RES 2,794
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201 £B-2%H| 11,000 11,638 A 638
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401 Al HIZ 2018 362,319 465,415 A 103,096
01 A& HI 359,835 462,225 A 102,390
OdtdEHl ¥ |AZelAtY 260,000,000 260,000
OnE& S 3Ma EH ALY (L=2. 17km)
70,000,000& 70,000
02 RAMAMS(IAIES) HAHAL
15,000, 000& 15,000
Oodtd &l & |A2clAtY AAEAL
345,000,000& * 4.30% 14,835
03 Al S THHI 2,484 3,190 A 706
Ootd &l € SA2elAtd
345,000,000& * 0.72% 2,484
ACHE FHIALY 116,237 186,342 270,105
401 AIEHI L 20 116,237 186,342 270,105
01 A& HI 115,445 184,398 A 68,953




CAET AL
MW - Mol M=Zs 78

ot - Hi=AIE A ool E )
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OA5td HHAY 80,000,000& 80,000
OF4e| 629-78 X L@ MYZ=2 EXITAH(L=
25m) 30,000, 000& 30,000
OAotE ZHIAMY &AL A
110,000,000& * 4.95% 5,445
03 A& =TI 792 1,944 21,152
OActd FHIAMY 110,000,000& * 0.72% 792
ot 2l 683,045 228,904 454,141
St & Xlot+ 2522l 683,045 228,904 454,141
Bi==&Hl &FH & sX2el 649,653 211,512 438,141
401 AIEHI L 2 CHYI 649,653 211,512 438,141
01 A& HI 645,621 210,000 435,621
o0tsot=& Fdl &€ |X2¢cl 210,000,000& 210,000
OO0l Jtotel 65 X LR Otsdt=S &l
S A 320,000,000 320,000
O&FY=s Otsdt=& X 3A 110,000,000 110,000
OX¥YS OI2dt=% X3 A AAIE AU
110,000,000& * 5.11% 5,621
03 A& =2 THHI 4,032 1,512 2,520
Oti=&Hl HH « ®X=el
640,000,000& * 0.63% 4,032
At A2 2l 33,392 17,392 16,000
201 L2l 1,392 1,392 0
02 =224l 1,392 1,392 0
OXlots EX2Z=EL HIIRS 4,0008 » 128 48
OXste BEHEY SHNRI
7,000& * 16004 = 12& 1,344
401 AIEBIZ 28I 32,000 16,000 16,000
01 A& Bl 32,000 16,000 16,000
OXots Ex2=52 HIIEH
500,000& * 160H2A = 43 32,000
HE2IZH(MAR A& 407,442 416,688 A9,246
el 2 316,440 336,279 A 19,839
ol | 316,440 336,279 A 19,839
101 124 dl 312,440 336,279 A 23,839
03 B2 (RIHY)22NE S 312,440 336,279 A 23,839
ozzee 312,440
od=s(It=2) 180,925
-22E Xt 3,317,570& * 1€ » 123 39,811
-194 Xt 3,149,500& » 1H » 128 37,794
-184 Xt 3,093,710& » 1H » 128 37,125




2N
X ZH -
L= B
el

o g¢ x
J¥ 0x {0
M0 Ao 4J

02 02

(O]
=
x
Ry
1
Y
x
S|

CB SR (B) - KIRAY - BES Ol &+ o4 il 2
-179 Xt 3,037,940& = 1H » 128 36,456
ASPN; 2,478,250 « 1H » 128 29,739
O=% 131,515
-IExg 3,600
i < Xt 40,0002 * 4F « 123 1,920
HAHES 20,0003 = 18 » 123 240
=M X 60,0003 = 29 » 12& 1,440
-BEE 100,000& » 198 = 128 1,200
-Z A gAY 140,000& = 5H = 123 8,400
“Zeag 50,000& = 5% = 12& 3,000
255 150,7643& * 5H » 123 9,046
SR (AEE)
30,0008 = 5% = 128 1,800
- (zW )22
21,0163 = 5% = 30AI2t = 128 37,829
-F22R=E
21,0163 = 5% « 16A12t = 128 20,176
-OfAZ2f=sg
28,0203 = 5% * 12A12t 128 20,175
—HOtE A S 12,1123 = 5% » 20« 11,212
-G E S0 1,507,694& » 5% * 23] 15,077
303 Z& = 4,000 0 4,000
duad=s 4,000 0 4,000
OEzE+d 0=
800,000& = 5% =« 13| 4,000
91,002 80,409 10,593
] 91,002 80,409 10,593
usr2 gl 51,542 42,677 8,865
AtS 22l 37,642 32,352 5,290
OJlzdedastl(JIE2l)
450,000& » 264 11,700
CEELIIE/ES=1-1p)
8,000 * 269 x 7 » 12& 17,472
O33R (RIAHY) =
8,000%J * 58 » 110 4,400
O3 (RIIAHY) TS| 1,400
o= 90,000& = 59H 450
Oogst= 100,000& * 5% 500
Ootd 3t 60,0002 = 5H 300
O&3t 15,0008 * 5% 75
o=g2 75
O&F=JI| gtz 1,200
OAED MBA 40,000 * 2CH = 128 960




SN AR AL
Hi: HES2AAH (MR H&D)

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OZZJ|IstEt AFR 4 20,0008 ~ 104 » 128 240
O=Z2A] EY 245 ,000& = 64 1,470
02 B2 13,900 10,325 3,575
OZTRH(LIIAY) P
500,000& * 69 3,000
oRH2 10,900
O gt 4003 * 8,500 3,400
O&II 2,500& = 3,000 7,500
202 04 b 33,600 27,072 6,528
01 2LHHI 28,800 19,872 8,928
oodl(oI=44dl)
20,000 » 244 * 52 * 12& 28,800
02 AN Y| 4,800 7,200 N 2,400
OXMAEHX(LIIH) 200,0008 » 2% = 12& 4,800
203 PR =&Y| 5,160 5,160 0
04 2SI L RF=AH| 5,160 5,160 0
OJIENH 5,160
03021 0| at 400,000& = 12& 4,800
O30 =1t 5,000& * 6 = 12& 360
405 XhAH3 S| 700 5,500 4,800
01 At = S F S HI 700 5,500 A4 ,800
O0l&MHIK 300,000& * 1x 300

OFSE=p) 400,000& * 1OH 400




Al A

Ol & A & &

Al

2|

Ik

2N

@ 2lx|e8]8(8 2133 N E slg|ele
s A0 “|w|w|©|© |© N 4| < < < | <
o
& Kl
= E]
E=]
© o [op] o o [ep] [QV] [QV] (V] [e0) [e0) [e 6] N~ (<o) (<o) (<o) o o
o [eN) [e @] Al Al Al [eN] [eN] [eN] [ep) [ep) [ep) [ep] o [e)) (o)) < <
o o (e @] [e o] [e ] [e o] [<e] [¢e] [<e] < < < — < [aV] [aV] — —
dla | = | o | o |0 o |wo |ov N RN o |lw [N N ™ | o
_|_n_un—- m«ﬁv w [0)} [ee] [ee] [ee] © <
[e]
uilEd
RS
<t < — (o)} ()] (o)} N~ Yo Yo [eN] [qN] Al [qN] Al () (e») () o o () [ep] o o o o o o o o o o ()
N~ < N~ N~ N~ N~ o (e} (e} L o] o] o] [e 6] — — — — (o] ™ N~ [eN] o) (o) o o o [e] (o) o <t <t
Nl |~ SIS S S - el |~ |n —|h|lnlnb © ©IN|SI®|a & S & © 9 &~ |~
(ep) o o o o o — N~ Y] [<o] o0} o0} o0} o0} — — — — o (<o) (<o) (<o) — — o — — o [ep]
aor
<
=3
B =5 B =5 ol = < = =3 ol 30 B0
Pk D=k 2 S 3 SF8 g @
- OF « - OF « H x 3 8 w8 =] %
or WA 8y BA 8o R S [w K @
0 O ogs 08 ow i 30 S T * 0 N O
ok N ST i © al S | * _ (=]
) CIRN <k S s drow o~ 2
_ I - S + o oo 8 U 5 W S
. oW X oW X® | - HY - < 8 "8 ma=x ® 2
oD = O o — © 5O - — = — BT aK no op oS
s Mo s Al < o H o op N Kr o o S
= .2 .8 .= .= Ki 2 o = - RS S
J i N N _— — Bo ol Py m - (&)}
I+ <o <N <m <om T~ — — K- o5
2 e 5] S S —_— OF Hl o) O )
= 0= Ko A = K — < -
= B SKS WMZ K2 = o<l
. o L. =R £ oo ) o
= [l < ) < ) 30 = oo o o il
zl = ) K4 — K4 —~ R0 0 v ol &l R oF .
‘= a7l | 3308 3 sl | R R T P I A
=0 oF KF o ~ & = 3! o kKO 3 5 3 Ot O H =
B 5 & wlm |22 D ol ~ o) o oD g _ | |=Z © Ok A o |D M B W
24 = wo B | ® {0 rd {0 w | 8P = E_ 30 | oW i B I 0 o 50k )
o s & _,Wo: _,"Ao: R o0 Kir ) Tlow [ w0 Flow (oW & oY Ol |® (@ B o) ~ 4 1w |5 |B
Rl Alm 2| =@ B[ |2|o w|lw |k O O 2 ﬁ TU|oF M R A OO O
UL R [ |[Y|avjlxo © 0 o |m|a|x 0 |Z|d|x 0 ¥l o ©o o o ==
w0 DU . W el I TR Il s ls oF S |5 O S |5 oF | O S |5 Q|5
i g T | RO ol [ B | & I |« K| A | < ~
Tz o ® | W | &M = oY | 0
_ | ® | < |
&l oF o | &)
%0 U x




2|

Ik

2N

- o |o EEYEEN o
4] S | S o |~ [~
pul S | D < | <
") a0 B
i N
1 Ko
aJ
- E]
E=]
o o — — © Y] (@) o
o o o ™ N~ Yo Yo} Yo}
(@] (&) [ ™ (o)) (ep] (o)) (o))
glg |T|e|= <
LH 3r
uilEd
RS
() o o () o o o o o o (@) o o o [ep) (ap) Q QQ o o o o o o o o o o) Y] o) o (@) (@) () o
<t o [o6) [eP) o o o o ()] [e)) Y] o o o Y] o <t <t o o o o o o o o o Y] [Te) Y] o Y] [Te) o) o
=
o
<
(=
T ESES =SS5 5 k=SS o o ol oS g S = ol B 30 i E
._4=._ o o o <t < N o o © o o (V) M ) oo o o Ye) Y] — — ._._.E
M <t (ep] — o (ep] o = O o o _._ﬂn/._ M
m . N N * x x O M x S x x K S = S = . * * x x %
or Semp @B LW 8 e I AT WS S "o W@ W =
X0 *5 5 5 8 8 8 W S 8 < oo Mo 3l & kS N8 S 8 *
) W e 88 2 2 2 88 < 3 R < LI W ne e *x S S S o
. E N - 288« & W AaW ~ S o o Ul * S 8 8 3
o O - N — — o S AR s i = U5 o - ™ o O
| nl S ~ S @ m— B op S < Al <
= U S K< 4 =W ur 8 S )
¥ |- = o BEgE W omw g 8 =
= [ 2 =K oo - s = m m 0 ® R =2
R I X % =R o) - 0 0 z0 H A S
~ | ™ o N 70 | o ®OR0 H H H®m  #@ o
= |z o >~ o o ~ ol | g ~ ~ 5 IN IH - T
i F O AR S ok | =r = & K oK L. = - R
~— o = Iy = = = = = . . _ o s ﬁ _ o
— 0 20 nom KRR D [} <0 o Oh <0 <0 ~ o [} E 3 0 20
__Lawm mf_ oowm RW aoa & 0 me|d|lsls R ® ®m o m o wm=E = P ww s = =
U . M A o omo&= < <k <k AW D R R0 ok 80| RM RT H H = K Ak o) OF ) 80 uo =
Rl - o = O o0 T ® OB WM A OSBRI 20 1 £ Ak 3K Ko nowoo o = - =
- Rl m O O O O O OO O OO O~ |~ M Mﬁ_ o [oF A A IH il K O O o O O Mo O 1l O
%0 oF % |o gl |3l © M l|= © © © © @) © Mo =
2@ | - = s |5 S S
K D g & e RS ISy
=) I H__l il
& ooF
R0 UJ




2N
X ZH -
L= B

el

AP A=
=YH A3
HEe XEHs

H . ool (30) - NIRAY - B il 2
OftE (Or2tSgEHX) 35,000& * 5JH 175
og&x 15,000& = 50H 75
O =l 15,0002 * 504 75
O&st 15,0003 * 50H 75
OAHEX 2,000& * 7504 150
HYSAHH(MIAR A=) 82,330 79,986 2,344
44l 82,330 79,986 2,344
=3l 82,330 79,986 2,344
201 B2l 36,830 35,562 1,268
01 At 2t 2| Hl 25,806 26,248 AN442
OJlege=adZH 450,000& * 23Y 10,350
o=t (OIE&dl)
8,000& = 23 = 7 » 128 15,456
02 22224l 11,024 9,314 1,710
ORHERS 9,960
Ooget 400 * 200& * 128 960
OS2l 2,500& = 300 » 12& 9,000
OdHE AR EHl Rl 1,064
OelEJl 7l 2,300,000 * 1CH * 8% 184
O T= A 2 X
5,500,000& = 2CH = 8% 880
202 odl 40,800 40,224 576
01 = LH o4 1l 14,400 13,824 576
O©J1=3Hl 20,0003 = 1298 = 5 » 123 14,400
02 A0 26,400 26,400 0
O A& Z At 200,000& = 118 = 12& 26,400
203 R F=&H| 4,200 4,200 0
04 FN2ILSZ=AH 4,200 4,200 0
©J1E= &l (25010]6t) 350,000& = 12& 4,200
405 KH&HF SHI 500 0 500
01 XL =2 ZFH St 500 0 500
OCU X E 3t 2t 500,000& =« 1CH 500




